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Probability

مشروع الوحدة: تعرّف معالم بلدك.
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��

IóMƒdGIóMƒdG
á°ùeÉÿG

����

 #�56/� !�T t/A�5A�� #L��/�� ��Q
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3 '�x
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 � J/�)@ � J��> �/4�� /q� l���� �6�/@ ��� D1v
 �@B��� H){ b% H6z� \'^ ��/��� b%
 b
��. ,C ��8�� �52y ��/% ��> '�

D1v = �
' (��� ,�

 '56��� #L��/�� /�)8��� �F� 9�A}�.
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 U5*���� 9"> ��@����� ��h�A3 ��̀���
D#�56/� U��@ #� l�T ��% (���"�

i3�%5"8% 9�� �L� أين أنت الآن (المعارف السابقة المكتسبة) 

•  D�8�� ��)% #� H%��h�*�. $�6��)�� �/q0�� FMh% 
*� O�"83
•  D(���5���. +���)���. b~ ��MMh%. Y.��q�� +p% �8�� (a�/I O�/83
•  D+a�A��� 78� +� #� �8�� W/I O%�h�*�

ماذا سوف تتعلم؟

•  D(���5���. +���)���. �8�� ��)% ���h�*�� +a�A% +�
•  DY�
*�� o"p% ���h�*�
•  Db����� ��� $�/n6 ���h�*�
•  D$�a�508�� $4�8�� l�k�. $�a�508�� $�/q��� ;/83
•   s���r�. 
����� s����. $���4���� s���r�. s���r� �N����� b��83 

D$"��A���

المصطلحات الأساسية

 o"p% − (���5���  −+���)���  − ��8�� U./k% − #*�*r� �8�� ��)% − 
a�5���
 Y����� − s���� − $4�8�� l�k� − $�a�508�� $�/q��� − b����� ��� $�/n6 − Y�
*��

D$"��A��� s���r� − s���� 
��% − $���4���� s���r� − s����
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•  D�8�� W/I 78�
•  �8��  ��)%  ���h�*� 

D+a�A��� +� #�
•  D+���)��� ���h�*� 

+�  #�  (���5���.  
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?$���)*� +,- �	'(� ��. �(�	 /!*� 0��!"�*� 1�M*�
?$���)*� /# ��� ��#�
*� 3���� 4-  1

?/
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*� ���!7� �(�	 0��!"� 08	�I �(. ,; 6�
*�. $���)*� <;�!.� �=>  C
?��@*� ���!7� �(�	 0��!"� 08	�I �(. ,3���!*�. A ,; &�#�
*� ��!7� �=>  X

?��#�
*� ���!7� �(�	 0��!"� 08	�I �(.  [
?$���)*� ���!7� �(�	 0��!"� 08	�I �(.  f

Counting by Using lists  
a�5��� (�/I b> �8��  \$−1−f^
�0B���*� /# /
C*� D�EF�*� �G� AHM*� <���M. ��� �; IC*� /# AHM*� ��� 45� �@*� 0��B J��%K� L@.
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�0S��� 0�T�� OU'. �; �- V�@. R'8
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D��)I/��� - 	&5� ���� ,+�r� +)��A� 
��* ,��Q�M)�� - 	&5� ���� ,�5K�� F��"� ���_ :Y�p%
:#����� ��%/��� i�F� ��h�A4*.

:#"� ��@ $�a���� �)K3 ,���� − 
��* − ���� − ���_

مبدأ العد والتباديل والتوافيق

Counting Principle, Permutations and Combinations
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D$8��r� U=M�� 9"> ��2��� <�&5�� $g"�h% $��/I C[ = v × [ �T5�   `

?�2�"> Y5K���  b
�� $g"�h% $�"@ 
@ ,�24% ;/� t� ��/
3 '.�. /_�6 $�"@ b% ;/�� $P=P ���h�*��  1
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Fundamental Counting Principle  �8"� #*�*r� ��)���  \U−1−f^
 0�
�5*� 0����*� ,��G!* 0��!"� WT��I Y� Z*�K� 0����*� ,��G!* 0��!"� WT��I X [�G- �0@.�!!� 4���� X Z�� 4�� ,��G� �	��

�05*�5*� 0����*� ,��G!* $���� 08	�I�
?4�@*� �,- ,��G!* 0G(��*� WT��M*� ��� ��

08	�I �� = � × Y × X :0G(��*� WT��M*� ���
A

^_� $
  :0�*�!*� <�'M"*� `�S��. �@�* /B�BK� ;�S�*� R��"!B�. 4T�F�*� 4� M�!��

•  aRb 4����*� ��� �	�
�
•  R& , … , X& , �& , �& :0���� 4c WT��I ��� �	�
�
•  R& × ��� × X& × �& × �& '- 0���@*� J��_> WT��I ���
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�8"� #*�*r� ��)���
 ,$g"�h% $��/I C' e� $�6�p�� $"�/���. ,$g"�h% $��/I 1' e� 9�.r� $"�/��� O�/T� �Q. ,$8����% $"�/% � 9"> $�"�> l�/T�

D�' × DDD × C' × 1' :5� $�"�8�� EF� l�/T� (a�/I ��> 'z� ,$g"�h% $��/I �' e� � �/��r� $"�/��� 9�� �F
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�� '��Q� H8)�� $��q�r� ;./� b% ;/�� b����� b% ��)3 $����A�� �/��� ���� #� �����A�� ���5�

D{v ,f ,[ ,X ,C ,1} $>5�q���
?�����A�� ���5� b% t� #� ��Q�r� .� ;./��� b% tr ��/
3 �T5� N H6� o��� $4
���� �����A�� ���5� ��> 
@

:+���
:9�.� $��/I

:+��/��� ��> ����3
;/��� ������ :9�.r� $"�/���  

����� 
Q� ������ :$�6�p�� $"�/���  
 ��/08�� 
Q� ������ :$p��p�� $"�/���  

C� = 9�.r� $"�/��� (a�/I ��>
v = $�6�p�� $"�/��� (a�/I ��>
f = $p��p�� $"�/��� (a�/I ��>

$��/I �[] = f × v × C� :(a�/M�� ��>
:$�6�P $��/I

��/08�� 
Q� ������ (a�/I ��> ����� 
Q� ������ (a�/I ��> ;/��� ������ (a�/I ��>
f v C�

f × v × C� = (a�/M�� ��>
$��/I �[] =  

 $P=P H8)�� $��q�r� ;./� b% ;/�� b����� b% ��)3 ���5"�� O6�@ ��� �����A�� ���5� ��> 
@ \C^ Y�p��� #�  C
D{v ,f ,[ ,X ,C ,1} $>5�q��� b% �������� 
�� ��Q��
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:#"� ��% +@ #� {� ,v ,f ,C} $>5�q��� /_�4> b% ��5��% ��Q�� $8��� b% �24% +@ �%� '5
��� ���>r� ��> 
@

D��/
���� ��* ���  �
D��/
���� ��A� 
� ���  U

 \��/
���� ��A� N^C ����� 
Q� '�@ ���  eT
:+���

��/
���� ��* ���  �
[ = ����� 
Q� ������ (a�/I ��>  `  
[ = ��/08�� 
Q� ������ (a�/I ��>  

[ = ��Z��� 
Q� ������ (a�/I ��>  
[ = ;5�r� 
Q� ������ (a�/I ��>  

Cfv = [ × [ × [ × [ = ���>r� ��>  
��/
���� ��A� 
� ���  U

[ = ����� 
Q� ������ (a�/I ��>  `  
X = ��/08�� 
Q� ������ (a�/I ��>  

C = ��Z��� 
Q� ������ (a�/I ��>  
1 = ;5�r� 
Q� ������ (a�/I ��>  

C[ = 1 × C × X × [ = ���>r� ��>  
v = 1 × C × X × 1 = ���>r� ��> `  +��/% X 9�)�  `  C ����� 
Q�  eT

:#"� ��% +@ #� {� ,v ,X ,1} $>5�q��� /_�4> b% ��5��% ��Q�� $P=P b% �24% +@ �%� '5
��� ���>r� ��> 
@  X
D��/
���� ��* ���  �  

D��/
���� ��A� 
� ���  U  
D��/
���� ��A�. t�/� ��8�� '�@ ���  eT  
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Factoriel of a Number  ��8�� U./k%  \eT−1−f^
�� eN@. ��N@. A�� IC*� /# 0	���_ 0�'* Z�� ��U�� ���; �0��!"� &�'*f. ��
 V'*� $��g� 3c��� Y R�)- �B�

:h�@*� WT��I ���
�0@.��*� 0�B��* � ,05*�5*� 0�B��* � ,0�
�5*� 0�B��* X ,Z*�K� 0�B��* O��'� Y

�Y = � × � × X × Y = h�@*� WT��I ���   ∴
!Y j��*�. k�*> j��	� Y A��N� � × � × X × Y A�N*� l��
 Z�F	

�3_'� m�
� ��� & n�� 1 × C × X × DDD × \X − '^ × \C − '^ × \1 − '^ × ' = !' ,� e�'���
1 = !]  

!\1 − '^ × ' = !' :&; o�p

:\+��� ��5M� � J�L5%^ cA��
!1v

![ !1C eT  !1C
!�  U  !f �

:+���
1C] = 1 × C × X × [ × f = !f  �

1 × C × X × DDD × u × � × � × 1] × 11 × 1C
1 × C × X × … × u × � × �

*

*

 = !1C
!�  U

1 XC] = 1] × 11 × 1C =   
:$%5"8%

 cq8���  $%=>  O%�h�*�
 1�]� $4* #� U./k�"� JN.�
 c%�@ '���A�/@ 
��8�� $M*�5�
 '�  /2n��  \1�Cv−1uv]^
 9�� � J/�)@ '5
� ��> U./k%

: J=p�� ,�% 	��
X vC� �]] = !1]

 

*

*

1 × C × X × … × 11 × 1C × 1X × 1[ × 1f × 1v
1 × C × X × [ × 1 × C × X × … × 11 × 1C  = !1v

![ !1C  eT

1 �C] = 
[fu

1
1X × 1[ × 1f × 1v

1 × C × X × [  =  

:\+��� ��5M� � J�L5%^ cA��  [
!1[

!u !� eT  !1]
!�  U  !u �  
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Permutations  +���)��� \�−1−f^
 0�'* �� I�!"� �� A $���F*� 0�'* a�b D�5� /# eH5�# ���S!�p� ��@. � e='7f�� � r��� 3���!*� &�c ,aXb ,a�b ��*�5�*� /#

:0��� � J=��)3 Z�F	 3���!*� �,- 45� ��� A $���F*�
•  ���@� 3���� W#� ���G@*� OU� '- 4	�S!*�
•  �!& '- J��%K� �� & 4	��S� ���

 
D/A"� �J4�%� o��p��. ��a/"� �J)a�6 #6�p��. � JA�a� Y.r� '5
� '� 9"> 
24% $P=P ������ ��/� D�J)��I C] H�� +K�

?$P=p�� U=M�� ������ b
�� $��/I 

�
:+���

D/A�� b�%� �����N $g"�h% $��/I 1�. ��a/�� ca�6 �����N $g"�h% $��/I 1�. ��a/�� �����N $g"�h% $��/I C] �T53
 :5� $P=p�� U=M�� ������ �2� b
�� #��� $g"�h��� (a�/M�� ��>  ∴

D$��/I v �[] = 1� × 1� × C]

?w�58*x $�"@ ;/�� ���h�*�� �24�5
3 b
�� #��� $g"�h% ;/�� X b% $65
��� ���"
�� ��> �%  f

�/ ≤ & n�� ,J��%K� �� & ��. �� $��!"�*�� J��%K� �� / 3���� <�= I��'�* ,a�b D�5�*� ,��@	 &; �(�	
Permutation Formula  +���)��� '56�Q

:'- $�� 4c /# / ��G� $='7f� 0��!"�*� ���G@*� �� & 4	��S� ���
& ≥ / , +W Z & , / n�� a� + / − &b × … × a� − &b × a� − &b × & = /D&

� = �D& 6 V�@	 � = / ���G�
:��N

a� + / − &b × … × a� − &b × a� − &b × & = 
v

D&  
� × � × X × … × av − &b
� × � × X × … × av − &b  × a� + / − &b × … × a� − &b × a� − &b × & =  

!&
!a/ − &b =  

+W Z & , v  ,  & ≥ v  :  !&
!av − &b = 

v
Y'  +���)��� '56�Q
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:\+��� ��5M� � J�L5%^ #"� ��% +@ $��Q �T.�

fY�

[Y�  eT  fYu + XYu U  XY� �
:+���

!�
!f = !�

!\X − �^ = XY�  �
1 × C × X × [ × f × v × u × �

1 × C × X × [ × f
� � � ��

� � � � �  =   
v × u × � =   

XXv =  
!u
!C + !u

![ = !u
!\f − u^  + !u

!\X − u^  = fYu + XYu  U
�

�!C × X × [ × f × v × u
!C  + ![ × f × v × u

![
�

�  =    
C fC] + C1] =   

C uX] =   
!�
!�  = 

!�
![
!�
![

 = 
!�

!\f − �^
!�

!\[ − �^
 = fY�

[Y�  eT

�!� × �
!��  =   

� =   

:\+��� ��5M� � J�L5%^ #"� ��% +@ $��Q �T.�  v
uY1]

vY�  eT  fYf + [Yf U  [Yu �  
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D��T/��� �=@/� c�3/���� b�)>N f ������ U����� ���� ,Y��8���� ����� �/@ ����)% l�2�6� �8�
 ?/0> ��r� b�)>=�� b�� b% $A�h�� b�)>=�� ������ b
�� $��/I 

�

:+���
D�J)>N 11 b% b��5����� b�)>N f b% '5
��� +���)��� ��> ��q�� $��A��� #� U5"M���

!11
!v  = !11

!\f − 11^ = fY11

u × � × � × 1] × 11 =  
ff [[] =  

?9%/��� m��� #4p�*� ��� �����h�� ��> �% ,\u^ Y�p��� #�  u

Combinations  (���5���  \e�−1−f^
t��2�3 Y�p%

:AHI 0@.�; �� 0
'(� 0�'�P� ��. �� ��S*�I ���!7� 0�
�S*� 0�.�!*� ��@� ���;
�&'�����*� 1�SB /# [��!%H* {��F� ,/�� ,���; ,��
�}

:/- 0G(��*� <H	�S!*� 4c
; a��F� , ��
�b ; a/�� , ��
�b ; a���; , ��
�b

; a��F� , ���;b ; a/�� , ���;b ; a��
� , ���;b
; a��F� , /��b ; a���; , /��b ; a��
� , /��b

�a/�� , ��F�b ; a���; , ��F�b ; a��
� , ��F�b
 �� I�!"	 p ���;� ��
� ���!7� &w# c�3/�"� ��)�>� '.� AHI 0@.�K� ��. �� ��S*�I �; ���!7� �	�	 A���*� &; ��.�
 ��F� ,��
� �; /�� , ��
� �; ���; ,��
� /- 0G(��*� <����!7p� &'(� 0*�
*� +,- /# /*�!*�.� ���
�� ���; ���!7�

���F� ,/�� �; ��F� , ���; �; /�� , ���; �;
D$���53 Z�F	 <����!7p� +,- �� ���!7� 4c�

 �CG� & �� 0
 V'(� 0�'�P� �� �-���!7� �(�	 /!*�� ,�CG� � �� ��G� 4c 0
 V'(�*� 0�TjP*� <��'�P�*� ��P	> �	�
 ���G�
�
v

W' , d'
v
n  j��*�. k* j��	� (���5��� 3F

 �
G# 3���!*� �� �xG*� 6�C.
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Combination Formula  (���5��� '56�Q
:'z� , / ≤ ' o�� b�)T5% '����_ '���> / ,' '�@ ���

:5� HAg6 OQ5�� #� /_�48�� b% ' b�� b% ����h���. /_�48�� b% / b% �24% +@ $6 	5
��� (���5��� ��>
v

Y'

!/  = 
v

W'

!'
!/ !\/ − '^ = 

v
W'

:��n�=%
•  � = �1& 6 V�@	 � = / ���G�
•  � = &1&

•  & = �1&

•  / −&1& = 
v

1&

 
D#"�� ��.� b�%��� �24% ������_ X ������ '5�.BA��� ��/� D������_ � O�5
�� $�.� ��n���% ���� #�

?s=p�� ������K�� ������ b
�� $4
�% $��/I 

�
:+���

\
2% /�� c�3/���^ ������_ � b�� b% ������_ X ������ U5"M���
XW� = $P=p�� ������K�� �����N $4
���� (a�/M�� ��>

 XY�

!X  =  
v × u × �
1 × C × X =  

fv =  
D$g"�h% $��/I fv e� s=p�� ������K�� ������ b
��

D#"�� ��.� b�%��� �24% ������_ [ ������ U5"M���. $����_ 1C �/�� $n���% #�  �
?<��r� ������K�� ������ b
�� $4
�% $��/I 

�
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 b% � J�{/% 1� b�� b% [ ������ H�"> D#*����� ��8�� $��26 Y�g��N /�k��"� U=I � b% $4q� +�
03 $*��% /��% ����

D/{�8�� �K�� b% � J�{/% 11 b�� b% 1. ,/0> t����� �K�� b% � J�{/% 1[ b�� b% X. ,/0> #6�p�� �K��
?$4q"�� b�5
3 /���"� b
�� $g"�h% $��/I 

�

:+���
[W1� = (a�/M�� ��> '5
�� ,
2% /�� /_�48�� c�3/3 ,/0> #6�p�� �K�� b% 1� b�� b% U=I [ ������ /����� 9">

XW1[ = (a�/M�� ��> ,/0> t����� �K�� b% 1[ b�� b% U=I X ������ H�"> i�F@
1W11 = (a�/M�� ��> ,/{�8�� �K�� b% 11 b�� b% ���. c��I ������ H�">.

1W11 × XW1[ × [W1� = $4q"�� b�5
3 (a�/I ��>
11 × Xv[ × X ]v] =  

1C  CfC  C[] =  
D$g"�h% $��/I 1C  CfC  C[] e� $4q"�� ������ b
��

 t����� �K�� b% U=I v ������ $L��/�� 
"8% ���� D�J)��I C[ /{�8�� �K�� #�. ,�J)��I C] /0> t����� �K�� #�  �
?�2"�
03 H6�
%z� #��� W/g�� ��> 
@ D����� �/@ (�/� +�
0�� /{�8�� �K�� b% U=I f. /0>

 
DC b% /)@� cT5% ���_ ��> ' o�� #"� ��% $���8% +@ 	+�

' = CW' eT  '1C = CY' U  1] = CW' �
:+���

/�� +�
1] = CW'   a
1] = CY'

!C  

1] = CW'  �
(���5��� '56�Q  1] = !'

!C!\C − '^  
��8�� U./k% ��5�  1] = !\C−'^ \1−'^ '

!C !\C − '^  
1] = \1 − '^ '

C  
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1] = \1 − '^ '
1 × C  

C] = \1 − '^ '  
[ × f = \1 − '^ '  

f = '   `

#8I����� U/k��  C] = ' − C'  
] = C] − ' − C'  

[− = '   .�   f = '  
f = '  ∴  cT5% ���_ ��> ' 'r , $L5�/% [− = '  

'1C = CY'  U
'1C = \1 − '^ '  

' 1C = ' − C'  
] = ' 1C − ' − C'  

] = ' 1X − C'  
] = \1X − '^'  

] = '   .�   1X = '  
1X = '   ∴   C < ' 'r , $L5�/% ] = '  

' = CW'   eT
' = CY'

!C  
' = \1 − '^ '

1 × C  
'C = ' − C'  

] = ' C − ' − C'  
] = ' X − C'  

] = \X − '^ '  
X = '    .�  \$L5�/%^  ] = '  

DC b% /)@� cT5% ���_ ��> ' o�� #"� ��% $���8% +@ +�  1]
' C = CW1+'  �  

C[ = XY'  U  
CY' = XW'  eT  
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نظرية ذات الحدين

Binomial Theorem

º∏©àJ ±ƒ°S

•  DY�
*�� o"p% ��q��
•   !5
g% �=%�8% ��q��  

Db����� ���
•  Db����� ��� $�/n6
•   ���  !5
g%  ��q�� 

Db�����

 GQ�4�6. /
g6 �4>�
�U��
K� 0B���. <;�. 0���*� 0�U�	�*� <�#�)!cp� �� ��5(*�

��	�
*� <�= 0	�x
 Z��� ���� $��5(* 0��� 0	�x
 �	�8� Z*> }��*� �,- /# 6��

�U��
K� L@. 0S����. ;�SGB ~*= W�8
!*�

:k��� 4C
!B �� ~�*> �  ,  Y  ,  X  ,  �  ,  �  ,  � = & n�� &aA + $b Q((# �=>
 = �aA + $b
 = �aA + $b

�
�A�$ � + �A�$ �

�A�$ � + �A�$� + �A�$ �
XA�$ � + �A�$X + �A�$X + �AX$ �

YA�$ � + XA�$Y + �A�$d + �AX$Y + �AY$ �
�A�$ � + YA�$� + XA�$�� + �AX$�� + �AY$� + �A�$ �

  = �aA + $b
 = XaA + $b
 = YaA + $b
 = �aA + $b

?daA + $b ['(�� k��� &'(�B �� O�'�� U��
K� 0S���� ~G(�	 4-
:/�	 �� O�'� ~G(�	 ��

�/*�'!*� Z�� $��'*� ���8�. ��� Z*> d �� $ ��@*� }; �8G	  �
�d Z*> ��� �� $��'*� ���8�. A ��@*� }; �	j	  U

�d ���F	 A , $ /B; `'�P� &'(�B  eT
�d ,� &p�K� &H��@�*� &'(�B  �

�� ,d &���7K� &H��@�*� &'(�B  e�
�D�(B�. n�5� Z�� 6�@!
 6'B <H��@�*� /��. ��P	�  

Pascal's Triangle  Y�
*�� o"p%  \$−C−f^
:Z�� 4C

 &aA + $b ['(�� �� O�P*� $��%>� A , $ �G�g*; �=> ,yz��G!
� �(�
 �G��{ $�8# /#

:$n�=%
 H� Y�
*�� o"p% $�Q #� 1 
Q�

:'�@ ��� H6r ,948%
1 = ]\U + $^ 'z� ,] ≠ U + $

 

� IC*��
� IC*���
� IC*����
X IC*��XX�
Y IC*��YdY�
� IC*���������

�Y�
*�� o"p�� Z�F	 �� �,-�
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Y�
*�� ��"�
Blaise PASCAL

\1vCX−1vvC^

 :n�5�*� �,- /# F�G*� o�p
•  �� ���F� n�5��* 0�_��"*� <�#�
*�
•  �k�'# � e���� ��@��'*� �	��@*� `'�P� ���F	 I� /# ��� 4c

 O.��*� IC*� �� �	���P!� �	��� 4c O�P
 ,���"*� IC*� Z�� D'C
�* eH5�#  
 /�!G	� � ^. ;�S	 IC*� &; ZFG
 p� a$�%�S� ���"*� IC*� �� Z��; '- �,*�b

�� ^. � eN	;

�YdY�
1������1 + + + +

 

#�/
�� bA�� b� ��� /
� 5��
 9kQ b��"A��� ���L��/�� l��"> b%
 U��6r�. $*�42�� #� -/� , ����� #� H3���
 tF�� �520��� o"p��� <L.. $�L��/��

DY�
*�� o"p�� �5��� ;/8�

 
�YdY�

1������1  

 Vp> �/7�(*� /.�@*� �*�@*�� /c /%')� /G�C*� <��U�	�*� �*�@* � e#��@� &�c /5�5�*� ���@*� F�G*� �,- &; �� ���*� Z��
 <H��@� ��P	� �d�Y R�� n�5�*� R�"!B� �,*�� ,D�(B�. j��. /F
��*� <��U�	�*� �*�� Z*> 0SF
 D�(B�. n�5� /� �B k
;

����
*� $��5c ['(��

 
1   f   1]   1]   f   1  5� �%�h�� �K�� '� O�"> ��� Y�
*�� o"p% b% m��A�� �K�� �T.�

:+���
D1 ��24% +@ t.�A� E/��. �K�� Y.� #� '���8��

:#"� ��@ m��A�� �K�� �T56 i�F� ,� J%��3 HQ5� b�8Q�5�� b���8�� -5�q% t.�A� ��24�� ��> +@.
:�%�h�� �K��1f1]1]f1

1v1fC]1fv1
+ + + + +  :m��A�� �K��

DY�
*�� o"p% b% <��A�� �K�� �T.� , \1^ Y�p��� #�  1
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1   f   1]   1]   f   1  5� �%�h�� �K�� '� O�"> ��� �=%�8��� ��q�� Y�
*�� o"p% � J%�h�A% v\U + $  ̂!5
g% �T.�
:+���

D\1^ (��A�� Y�p���� b�8�A6 i�F� DvU  ,  fU1$  ,  [UC$  ,  XUX$  ,  CU[$  ,  Uf$  ,  v$ �=%�8% ��q�� JN.� �4�">
:v\U + $^ !5
g% 9"> +K�6 �F
�. 1  ,  v  ,  1f  ,  C]  ,  1f  ,  v  ,  1 9"> +K�4�

vU1 + fU$v + [UC$1f + XUX$C] + CU[$1f + Uf$v + v$1 = v\U + $^
\vU ,C$ +)Q 1 $���@ ��./L ��>^   vU + fU$v + [UC$1f + XUX$C] + CU[$1f + Uf$v + v$ = v\U + $^  .�

DY�
*�� o"p% � J%�h�A% q\U + $^ !5
g% �T.� , \C^ Y�p��� #�  C

The Binomial Theorem  b����� ��� $�/n6  \U−C−f^
 I� �@. I� ���(� W	�I �� ����K� +,- ��P	> �(�	� �	�
*� <�= ['(�� <H��@� /- D�(B�. n�5� /# ����K�

�W�#�'!*� R��"!B� W	�I �� �	�
*� <�= ['(�� <H��@� � eN	; �_'
 &; �(�	 �a�b D�5�*� /# 08	�M*� R��"!B�.
�D�(B�. n�5� �� n*�5*� IC*� ��� O� W.�M!� /-� � ,X ,X ,� Z�� 4C

 X1X ,�1X ,�1X ,�1X :�GSF� �=>

�D�(B�. n�5� �� O.��*� IC*� ��� O� W.�M!� /-� �  ,Y  ,  d  ,  Y  ,  � Z�� 4C

 Y1Y ,X1Y ,�1Y ,�1Y ,�1Y �GSF� �=> ~*,c
� YA�$Y1Y + ��� + �AX$�1Y + �AY$�1Y = YaA + $b ['(�� &'(	 k����

b����� ��� $�/n6
,' cT5% ���_ ��> tr

'U'W' + 1 − 'U$1 − 'W' + DDD + CU C−'$CW' + U1 − '$1W' + '$]W' = '\U + $^
Properties of the Binomial Theorem  b����� ��� $�/n6 ��5�

�� r�� � + & ��N!	 &aA + $b ['(��  1
�/*�'!*� Z�� $��'*� ���8�. 0�*�!*� ���
*� /# $ ��@*� }; �8G	 �� ,& $ '- ['(��*� /# D�K� �
*�  C

 /# ��7K� �
*� Z*> 4C
 Z!� /*�'!*� Z�� $��'*� ���8�. A ��@*� }; �	j	 �� ,/
�5*� �
*� /# A ��@*� �'�� ;�S	  X
�&A &'(	� ['(��*�

�' }K� ���F	� O��P ['(��*� ���� �� �� �; /# A  ��@*�� ,$ ��@*� /B; `'�P�  [



dd

:��7K� �
*�� D�K� �
*� �� kF�
 �@S*� ���* �	�� 4c H��@� ���F!	  f
����,(-� ��7K� 4S� �� �
*� 4��@� ���F	 /
�5*� �
*� 4��@�� ��7K� �
*� 4��@� ���F	 D�K� �
*� 4��@�  

 /A /−'$/1& = � + /M   j��*�. k* j��	 1 + / kS���� �,*� �
*�  v

 
v\C + m^ !5
g% ��q�� b����� ��� $�/n6 ��h�*�

:+���
vUvWv + fU$fWv + [UC$[Wv + XUX$XWv + CU[$CWv + Uf$1Wv + v$]Wv = v\U + $^ !5
g% #�

:C e� U b> , m e� $ b> M 	586
v\Ĉ  × vWv + f\Ĉ  × mfWv + [\Ĉ  × Cm[Wv + X\Ĉ  × XmXWv + C\C^ × [mCWv + \Ĉ  × fm1Wv + vm]Wv  = v\C + m^

v[ + mXC × v + Cm1v × 1f + Xm� × C] + [m[ × 1f + fmC × v + vm =  
v[ + m1�C + CmC[] + Xm1v] + [mv] + fm1C + vm =  

f\X + m^ !5
g% ��q�� b����� ��� $�/n6 ��h�*�  X

 
[\�X − mC^ !5
g% �T.�

:+���
[U + XU$[ + CUC$v + UX$[ + [$ = [U[W[ + XU$XW[ + CUC$CW[ + UX$1W[ + [$]W[ = [\U + $^ : JN.�

\�X−^ + mC +
0�� 9"> �X − mC b����� ��� c�
3 '� b
�� :�J�6�P
:9"> +K�4� \�X−^ e� U b>. \mC^ e� $ b> [\U + $^ #� M 	586 :�Jp��P

[\�X−^ + X\�X−^ × \mC^[ + C\�X−^ × C\mC^v + \�X−^ × X\mC^[ + [\mC^ = [\�X − mC^
[� [\X−^ + X� mX\X−^ × � + C�CmC\X−^ × [ × v + �Xm\X−^ × � × [ + [m1v =  

[��1 + X� mC1v − C�CmC1v + �Xm�v − [m1v =  

X\�[ − mX^ !5
g% �T.�  [



dq

 
f\� + mC^ !5
g% #� o��p�� ���� �T.�

:+���
/U  /−'$ /W' = 1 + /�

� = U , mC = $ , f = '
C = / ⇐ X = 1 + /

C� × Xm � × [ × f
1 × C  = C\�^ × X\mC^ × CWf = X�

C�Xm �] =  

Du\�C + m^ !5
g% #� m��A�� ���� �T.�  f

 
Dfm +%�8% �T.�  �\C − mX^ !5
g% #�

:+���
,C − = U , mX = $ , � = '

?? = /
/U  /−'$ /W' = 1 + /�

/\C−^ × /−�\mX^/W� =  
/\C−^ × /−�\m^ × /−�\X^ × /W� =  

fm = /−� m  
X = / , f = / − �  ∴

fm 9"> t5��� <��/�� ����
fm\�−^ × C[X × fv = \�−^ × fm f\X^ × v × u × �

1 × C × X  = X\C−^ × f\mX^ XW� = [�
1]� �v[ − = fm +%�8%  ∴

Dvm +%�8% �T.� �\C − mX^ !5
g% #�  v



dt
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•   $�a�508�� $�/q��� ; 	/83 
D$�a�508�� $4�8�� l�k�.

•   �N����� b��83 
Ds���r�

•   s���r� �N����� b��83 
 s���� 
��%. $���4����

D$"��A��� s���r�.

 GQ�4�6. /
g6 �4>�
Experiment  $�/q���
 0��# }��� �� ��S@!�* R�"!F� /-� 0��'�*� �G���� /# � e��5c yD��!��{ 0��c R�"!F�

��cE� ��� ��@� ��� `'��
:0�*�!*� ����K� `'�� <p��!�� ��

•  R'�*� �M�*� D'M-
•  �<��U�	�*� $��� ��S!7� /# ~��P

•  �0���C*� 0�M@*� /# [��B
•  �0�
�@� �'8
 0@M� J�8*> �G� $�'� Z�� D'C
*�

?o�H� �=�� �IC*� /# ~TH�� <�.�_> 4 VPB
�4�
!F� kS% ,4�!
�*� ��� �� ,�cf!� ,�eS	�8� ,�eS*�� :45� 0�B��� ��.�@� R��"!B� o�H


Random Experiment and Sample Space  $4�8�� l�k� . $�a�508�� $�/q���  \$−X−f^
:0�*�!*� U��)*� W8
� 0���� �; 0.�P� /- 0�T�')@*� 0.�P!*�

��-J��_> 4S� � e8SF� 0�'�@� &'(� 0.�P!�* 0G(��*� lT�!G*� O��_  1
��-J��_> 4S� �cE� 4(). 0.�P!*� 0P�!
 O�'� �(�	 p  C

�0.�P!*� J��_> 4S� 0.�P!*� lT�!
 �� 0P�!
 4c �'�� 0��# A�F� �(�	  X
 j��
� \;^ j��*�. 0G�@*� J�N�* j��
 �0.�P!�* 0G(��*� l��'G*� O��_ �� 0
'(�*� 0�'�P�*� '- 0�T�')� 0.�P!* $4�8�� l�k�

�\;^' j��*�. 0G�@*� J�N# ���G� ��@*
�0G�@*� J�N# ���G� �� ���� �CG� k
; �; 0�T�')@*� 0.�P!*� lT�!
 �� 0P�!
 �; '- j3�4��

Db�������% b�3/% 
n�4% �/6 /q� #%� $�/q3 #�
 D$4�8�� l�k� /_�4> c�@�  �
?$4
���� j3�54�� ��> 
@  U



du

:+���
:#� $4�8�� l�k� /_�4> �

\v ,C^ , \f ,C^ , \[ ,C^ , \X ,C^ , \C ,C^ , \1 ,C^ , \v ,1^ , \f ,1^ , \[ ,1^ , \X ,1^ , \C ,1^ , \1 ,1^  
\v ,[^ , \f ,[^ , \[ ,[^ , \X ,[^ , \C ,[^ , \1 ,[^ , \v ,X^ , \f ,X^ , \[ ,X^ , \X ,X^ , \C ,X^ , \1 ,X^  
\v ,v^ , \f ,v^ , \[ ,v^ , \X ,v^ , \C ,v^ , \1 ,v^ , \v ,f^ , \f ,f^ , \[ ,f^ , \X ,f^ , \C ,f^ , \1 ,f^  

D� Jq3�6 Xv = j3�54�� ��>  U

1 C X [ f v

v
f
[
X
C
1

 :'5
� �8"� #*�*r� ��)��� cA�.
$�6�p�� $�%/�� j3�56 ��> × 9�.r� $�%/�� j3�56 ��> = j3�54�� ��>

� Jq3�6 Xv = v × v =

 #6�p�� ��
�� #�. f 9�� 1 b% $�Q/% $"P���% ��/@ f Y.r� ��
�� #�  1
 ��
�� b% �/@ ��̀a�50> O)�* D1] 9�� v b% $�Q/% $"P���% ��/@ f

D#6�p�� ��
�� b% �/@ O)�* 
P Y.r�
D$4�8�� l�k� /_�4> +@ c�@� �  

?$4
���� j3�54�� ��> 
@ U  

Event  s����
�y&�	��F!� &��-�x*� &���@*� &'(	 n�
. ��
 ��P� /��{ :$ ��
*� �(�* ,a�b D�5�*� /#

{ad ,db , a� ,�b , aY ,Yb , aX ,Xb , a� ,�b , a� ,�b} = $
�yu ���F	 �	�-�x*� �	��@*� `'�P�{ :A ��
*� �(�*�

{aX ,db , aY ,�b , a� ,Yb , ad ,Xb} = A
�y�� ���F	 �	�-�x*� �	��@*� `'�P�{ :^_ ��
*��

ϕ = ^_
DH�.�A� �Q. $4�8�� l�k� b% $�a�T $>5�q% 5� s����

Types of Event  s���� -�56�
����� �CG� Z�� �'!
� 6 0G�@*� J�N# �� 0�Tj_ 0�'�P� '- aSimple Eventb F�A)�� s���� \1^

��CG� �� �5c; Z�� �'!
� 6 0G�@*� J�N# �� 0�Tj_ 0�'�P� '- aCompound Eventb c@/��� s���� \C^
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�{ } �; ϕ j��*�. k* j��	� 6 0G�@*� J�N# �� 0�*�7 0�Tj_ 0�'�P� '- aImpossible Eventb +���A��� s���� \X^
�k	��F	� 6 0G�@*� J�N# �� 0�Tj_ 0�'�P� '- aCertain Eventb �@B��� s���� \[^

 
 :�T.� ,$�����% �� 	/% s=P $�n�4% $�6�8% �5�6 $8MQ l���� $�/q3 #�

D\;^ $4	�8�� l�k� �
Dw$���@. b�3�5_ �52yx :$ s���� U

Dw�5_ s=P �52yx :U s���� eT
Dw+Qr� 9"> ����. ��5_ �52yx :eT s���� �
Dw/p@r� 9"> ����. ��5_ �52yx :� s���� e�

:+���
 ,\� ,! ,!^ ,\! ,� ,!^ ,\� ,� ,!^ ,\! ,! ,�^ ,\� ,! ,�^ ,\! ,� ,�^ ,\� ,� ,�^} = ;  �

 D{\! ,! ,!^
D{\� ,� ,!^ ,\� ,! ,�^ ,\! ,� ,�^} = $ s���� U

D{\� ,� ,�^} = U s���� eT
,\� ,� ,!^ ,\� ,! ,�^ ,\! ,� ,�^ ,\� ,! ,!^ ,\! ,� ,!^ ,\! ,! ,�^}  = eT s����  �

D{\� ,� ,�^
D{\� ,! ,!^ ,\! ,� ,!^ ,\! ,! ,�^ ,\! ,! ,!^} = � s���� e�

:#"� ��% =̀@ c�@� ,\C^ Y�p��� #�  C
Dw��5_. b�����@ �52yx :$ s���� �

Dw+Qr� 9"> ����. $���@ �52yx :U s���� U

Precising Probabilities of Events  s���r� �N����� b��83 \U−X−f^
 <p��!�� ��P	> �(�	� ���F�
 �'�x*� ��# ��* l��'
 /- 0GV�@*� J�N# l��'
 V&; �GU�!#� ,&�� ZV!� ��*��G� V�� /!*� A��P!*� /#

�0GV�@*� J�N# l��'
 ��� Z�� ��
*� l��'
 ��� 0�F� W	�I �� �� 0.�P!*
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Probability of an Event  s���� -5Q. Y�����
 -5Q. Y����� 	'z� ,�2Ag6 �52n�� �/� �2� �2qa��6 $�a�50> $�/q�� \Y�� /��. H�4%^ ; $4	�> l�k� #� � JP�� $  '�@ ���

:5� $ s����
 \$^'
\;^' = \$^ s��� j3�56 ��>

\;^ $4�8�� l�k� j3�56 ��> = \$^Y
D; s���� /_�4> ��> :\;^' , $ s���� /_�4> ��> :\$^'

 l��'
 ��@* � r	��F� �; �� �g�; &'(	 �� � e�T�� �� ��� /# l��'G*� ��� &w# ,0G�@*� J�N# �� 0�Tj_ 0�'�P� '- ��� �; &K�
�0G�@*� J�N#

Properties of the Probability of an Event  �% s��� Y����N� ��5�
:'z� \Y�� /��. H�4%^ ; $4�> l�k� #� s�� $ b
��

D1 ≥ \$^Y ≥ ]  1
D+���A��� s����� $ 9�A�. ] = \$^Y 'z� ,{  } = $ '�@ ���  C

D�@B��� s����� ; 9�A�. 1 = \$^Y 'z� ,; = $ '�@ ���  X

 
D$*����� 9�� l#q�"� H��)80� /0> t����� �K�� U=I �2%�h�A� #��� +�4�� $"�*. E�6�� Y.�q�� b	�)�

U $)80�� $ $)80��
1f 1v $�*����� $"�����
� v +�r� <%
X [ ��> +�6 ����*

 D/0> t����� �K�� #�)8{ U=I b�� b% ��̀a�50> c��I /����
 $�*����� $"����� '5"��A� b�F�� b% c��M�� �F� '5
� '� Y����� �%

?$*����� 9�� l#q�"�
:+���

Dw$*����� 9�� $�*����� $"������ l#q���x :$ s���� '� M/g4�
X1 = 1f + 1v : \$^ s���� j3�56 ��>

 :\;^ $4�8�� l�k� j3�56 ��>
fC = \X + � + 1f^ + \[ + v + 1v^ = \;^'  

 X1
fC  = \$^ s��� j3�56 ��>

\;^ $4�8�� l�k� j3�56 ��>  = \$^Y   a

?+�r� <% $*���"� '5)�F� b�F�� b% c��M�� �F� '5
� '� Y����� �% ,\X^ Y�p��� #�  X
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?{u ,v ,f ,[ ,X ,C ,1} $>5�q��� /_�4> b% $g"�h% ��Q�� f b% ' 	5
% ��̀a�50> �3�� 
Q� ������ Y����� �%

:+���
D"{u ,v ,f ,[ ,X ,C ,1} $>5�q��� /_�4> b% $g"�h% ��Q�� f b% ' 	5
% �3�� 
Q� ������" :$ s���� b
��

�[] = [ × f × v × u = \$^' s���� #� j3�54�� ��>
1v �]u = u × u × u × u × u = \;^' $4�8�� l�k� #� j3�54�� ��>

�[]
1v �]u  = \$^'

 \;^'   = \$^ s���� #� j3�54�� ��>
\;^ $4�8�� l�k� #� j3�54�� ��>  = \$^Y

�[]
1v �]u  = \$^Y

?$g"�h% ��Q�� u b% '5
% ��̀a�50> �3�� 
Q� ������ Y����� �% \[^ Y�p��� #�  [

Mutually Exclusive Events  $���4���� s���r�  \eT−X−f^
 y0�#�G!� ����;{ �; y0�C�G� ����;{ ^. Z�F� ��G�� 0c�!)� l��'
 ��G�. �_'� p� ,kF�
 0G�@*� J�N# �� ����K� &'(� ���G�

;

U $

 U ,$ b����4�% b�P��� b~ +
{
 D; HAg6 $4�8�� l�k� b%

  �4.�8�*� 4()*� /# m VU'� '- ��c
y� ���F	 �	�-�x*� �	��@*� `'�P�{ $ :����K� �(!* a�b D�5�*� /#

yZ*�K� 0���*� /# � ��@*� �'��{ A  
y��!���*� /# kF�
 ��@*� �'��{ ^_  

{a� ,Yb ,a� ,Xb ,aX ,�b ,aY ,�b} = $
{ad ,�b ,a� ,�b ,aY ,�b ,aX ,�b ,a� ,�b ,a� ,�b} = A
{ad ,db ,a� ,�b ,aY ,Yb ,aX ,Xb ,a� ,�b ,a� ,�b} = ^_

�^_ , $ ����
*� ��. 0c�!)� l��'
 �_'� p k
; o�H
 WSB ���
ϕ = ^_ ∩ $   ∴

�'����4�% '�P�� ^_ , $ &���
*� Z�F	
{aY ,�b} = A ∩ $

ϕ ≠ A ∩ $   ∴
����#�G!� ��� &���� A , $ Z�F	
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Addition Rule for Mutually Exclusive Events  $���4���� s����� $��L�� ��>�Q
•  \U ∩ $^Y − \U^ Y + \$^Y = \U ∪ $^Y :'z� $4�8�� l�k� #� b�P�� U , $ '�@ ���
•  ���_ �
8��. ] = \U ∩ $^Y o�� \U^ Y + \$^Y = \U ∪ $^Y : 	'z� ,b����4�% b�P�� U , $ '�@ ���

 
?X b% /�_� � J��> .� v b% /)@� � J��> �2% ���h3 '� Y����� �% D�. /gK�� b�� � J��> ��̀a�50> �2% ���h3

:+���
Dwv b% /)@� ��8��x :eT s���� '� M/g6

{� ,� ,u} = eT
wX b% /�_� ��8��x :� s���� '� M/g6

{C ,1 ,]} = �
D\� ∪ eT^Y ��q�� U5"M���

ϕ = {C ,1 ,]} ∩ {� ,� ,u} = � ∩ eT  ∴
'����4�% '�P�� � , eT  ∴

]�v = v
1] = X

1] + X
1] = \�^Y + \eT^Y = \� ∪ eT^Y  ∴

?wX��8�� ���>�k% b% .� C b% /�_� ��> 9"> Y5K���x s���� Y����� �% ,�/6 /q� l���� $�/q3 #�  f

Complement of an Event  s���� 
��%  \�−X−f^
 4()*� /# m VU'� '- ��c $ ��
*� /# $�'_'�*� ���� 0G�@*� J�N# l��'
 4c 0�'�P� '- , $  j��*�. k* j��	� $ s���� 
��%

�4.�8�*�
ϕ =  $  ∩ $� 6 =  $  ∪ $ n�� , eH��c 0G�@*� J�N# � e@� &H()	  $  ,$ &K�

� = a6bD = a $  ∪ $bD &w#
;

 l�k� +��� b����% b�P��� b~ +
{
DHAg6 $4�8��

$
$

 &���!!�  $  , $ &���
*�
:~*,* , &HC�G� &���� $  , $ ∴

� = a $ bD + a$bD = a $  ∪ $bD
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The Complement Rule  
����� s���� ��>�Q
:5� $ s.�� ��> Y������ ,� JP�� $ O6�@ ���

\$^Y − 1 = a $ bY

 

:$�L��� $%5"8%
 $ s��"� 
����� s����

D$ �%/��� H��� �%/�

 Dwf t.�A� .� b% /)@� ��> �52yx $ s���� '�@ ��� ,
n�4% �/6 /q� #%� $�/q3 #�
:#"� �% �T.�

\$^Y �
\$^Y U

:+���
{v ,f ,[ ,X ,C ,1} = ;

{v ,f} = $
C
v  = \$^'

\;^'  = \$^Y �
1
X  =   

1
X  − 1 = \$^Y − 1 = \ $ ̂Y U

C
X  =   

Db�g"�h% b���> 9"> Y5K��� Y����� �T.� b�������% b�3/% 
n�4% �/6 /q� l���� $�/q3 #�  v

Independent Events  '=��A��� '�P����  \e�−X−f^
��7�� `'�� Z�� ���f� �; k* ��* ��-��; `'�� &�c �=> ���8!F� &���
*� &'(	
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$���L53 $"p%�
 ,y0.�!c  �'8G*�  0@M8*  �-�x*�  k_'*�{  ����
*�  &w#  �$����  $ V��  �x!G�  ��
  �P��  0�
�@�  �'8
  0@M�  J�8*>  �G�  1

�&H8!F� &���
*� ~*,* �7�� `'�� Z�� ��-��; `'�� ��E	 p yX ��@*� ��G*� �P
* �'�@*� k_'*�{
���*� $�c �*�B� k�*��S� 3@�	  C

 `'�� &K &H8!F� &���� ��- y$ V�� 0��� �� � e#�- �*�B 4 VPB{� ,y$ V�� 0��� �� � e#�- k�*��S� 4 VPB{ :&���
*�  
��7�� ��
*� `'�� Z�� ��E	 p ��-��;

�J��N7 <��c d� J���� <��c Y /
�5*� /#� J��N7 <��c X� J���� <��c � D�K� ��(*� /# :&�F�c �G	�*  X
�&H8!F� &���� ��- �y/
�5*� ��(*� �� J��N7 $�c 3
B{� yD�K� ��(*� �� J��N7 $�c 3
B{ :&���
*�  

Rule of Independant Two Events  $"��A��� s���r� ��>�Q
:5� � J8% b�P���� -5Q. Y����� 'z� ,b�"��A% b�P�� U ,$ '�@ ���

D���_ �
8��. ,\U^Y • \$^Y = \U ∩ $^Y

Probability of Union for Two Independant Events   b�"��A% b�P�� ���3� Y�����
:$���8*� R�"!F
 ����� ��
�� D��!�� ��P	�

aA ∩ $bD − aAbD + a$bD = aA ∪ $bD
:$���8*� +,- mSC� ���8!F� ����� 0*�� /#�

\U^Y • \$^Y − \U^Y + \$^Y = \U ∪ $^Y

 
D
2A�� #%� $)8� �*5�. 
���/�� c8"�

1
X  t.�A� ;�2�� �*5� c�K� '� Y�����. , C

f  t.�A� ;�2�� 
���/�� c�K� '� Y�����
D;�2�� 9"> � J�2* ��24% +@ 9%�

 :Y����� �%
?;�2�� �*5�. 
���/�� b% +@ c�K� '� �

?;�2�� $��_� U
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:+���
w;�2�� 
���/�� c�K�x :eT s���� '� M/g6

Dw;�2�� �*5� c�K�x :� s���� '� M/g6.
D/��� -5Q. 9"> /�P�3 t� H� ��� ������ -5Q. 'r '=��A% � ,eT '�P����

D\� ∩ eT^ s���� 5� ;�2�� �*5�. 
���/�� b% +@ c�K�  �
'=��A% '�P�� � , eT   a  

\�^Y • \eT^Y = \� ∩ eT^Y   `  
1
X × Cf =  

C
1f =  

D� ,eT b�"��A��� b�P���� ���3� 5� w;�2�� $��_�x s���� U
\� ∩ eT^Y − \�^Y + \eT^Y = \� ∪ eT^Y   `  

C
1f − 1

X + Cf =  
C − f + v

1f  =  
X
f  = �

1f =  

?;�2�� $��_� ��> Y����� �% ,\u^ Y�p% #�  u
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المرشد لحل المسائل

�W.�I �; /# 0����� 0�H5*� ��"%K� �� �"% �; &�(�w. &�c� W.�'I ��7 �� &'(� 1�G# /# 0����� ��"%; X ���; �=>
?kF�
 W.�M*� /# � e@� 0�H5*� ��8	 &; D��!�� ��  1

?���"*� W.�M*� /# �"% �; ��8	 p &; D��!�� ��  C
:+���

� ��. �� W.�I ���!7� �"% 4(* �(�	
���7K� <����"*� �� 0�8!F� <����7 � �"% 4(*   ∴

X� = � × � × � = 0G�@*� J�N# /# l��'G*� ���   ∴
�0F�"*� W.�'M*� �� W.�I �; /# � e@� �'*jG	 &; 0�H5�* �(�	  1

�× � × � = ��
*� /# l��'G*� ���   ∴  
� =  

�
�� = �

��� = akF�
 W.�M*� /# � e@� 0�H5*� DjG	bD  
�y���"*� W.�M*� /# �"% �; ��8	 p &;{ :$ ��
*�  C

���G� � e8.�I ��!"	 W.�'I Y �"% 4(*  
XY = Y × Y × Y = ��
*� /# l��'G*� ���  

X� = 0G�@*� J�N# /# l��'G*� ���   ∴  
dY

��� = XYX� = a$bD   ∴  

$���L� $��A% +�
$"�Kg��

-54��ABABO

cT5%f1fufv]f1]
c��*11f[f1f1vf

 ��"% � ��� �̂* R�*� 4T�C# 4.�8�*� D��P*� �V�S	
�0�'�P�*� +,- �� �r�T�')� �"% ��!7�

?AB 0��C�*� �� k�� &'(	 &; D��!�� ��  �
?�eS*�B k�� `'
 &'(	 &; D��!�� ��  U
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مخطط تنظيمي للوحدة الخامسة

Y����N�


a�5��� U./k%
��8��

+���)���
(���5���

 ��)���
�8�� #*�*r�

 '56�Q
+���)���

 '56�Q
(���5���

 l�k�
$4�8��

s����

 o"p%
Y�
*��

 !5
g%
Y�
*�� o"p%

 Y�����
s���� -5Q.

 -�56�
s����

 ��� $�/n6
b�����

 $�/n6 ��5�
b����� ���

 Y����N� ��5�
�% s���

 $�/q���
$�a�508��

 s���r�
$���4����

 
��%
s����

 s���r�
$"��A���

 ��>�Q
 s����

�����

 b�6�5Q
 s���r�
$"��A���

 ��>�Q
 $��L��

 s�����
$���4����

 ���3� Y�����
b�"��A% b�P��

 ��)%
 +���)���. �8��

(���5���.
 ��� $�/n6

b�����
Y����N�
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ملخص
•  �0S��� 0�T�� OU'. �@*� 4T�F� L@. 4� �(�	
•   ,0��!"� 08	�I �& ^. 0�
�5*� 0����*�� ,0��!"� 08	�I �& ^. Z*�K� 0����*� Q	�_; ,0@.�!!� 0���� R Z�� 0���� J��_�  

R& × … × �& × �& :'- 0���@*� +,- J��_> WT��I ��� &w# ,0��!"� 08	�I �
 ^. R $��7K� 0����*� Z!� �,(-�
•  & 3_'� m�
� ��� 4(* � × � × X × … × a� − &b × a� − &b × & = !& :��@*� A��N�
•  +W Z & , v  ,  & ≥ v  :  !&

!a/ − &b = /D& :4	��S!*� &'
��
•  !&

!a/ − &b !/ = /1& :W�#�'!*� &'
��
•  / − &1& = /1& ,& = �1& ,� = &1& ,� = �1& W�#�'!*� ��'7
•   D�(B�. n�5�

�
��

���
�XX�

�YdY�
��������  

� ���F� n�5��* 0�_��"*� <�#�
*�  
�k�'# � e���� ��@��'*� �	��@*� `'�P� ���F	 I� /# ��� 4c  

•   & n�� ,&A &1& + � − &A �$ � − &1& + … + �A � − &$ �1& + A� − &$ �1& + &$ �1& = &aA + $b :�	�
*� <�= 0	�x
  
�3_'� m�
� ���

•  �� r�� � + & ��N!	 &aA + $b ['(��
•  /A × / − &$ × /1& '- � + / kS���� �,*� �
*�
•  ��� 0.�P!* ������ �(��*� l��'G*� 4c 0�'�P� '- �� 0.�P!* 0G�@*� J�N#
•  �k	��F	 ��� 0G�@*� J�N# �� 0�Tj_ 0�'�P� '- ��
*�
•  � a$b&

a6b&  = ��
*� /# l��'G*� ���
0G�@*� J�N# /# l��'G*� ���  = a��
*�bD :��
*� D��!��

•  � ≥ a$bD ≥ �
•  �4�
!F�*� ��
*�. $ Z�F	�   � = a$bD &w# { } = $ &�c �=>
•  ��cE�*� ��
*�. 6 Z�F	�   � = a$bD &w# 6 = $ &�c �=>
•  �aAbD + a$bD = aA ∪ $bD &w# ,���#�G!� ����� A ,$ &�c �=>
•  � = a$bD + a$bD :��!�*� ��
*�
•  �aAbD × a$bD − aAbD + a$bD = aA ∪ $bD ,aAbD × a$bD = aA ∩ $bD &w# ,���8!F� ����� A ,$ &�c �=>
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